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1D pull distribution

+0.05269

0.004928

Mean

+0.03726

0.4149

Std Dev

Underflow

Overflow

0.5064 / 2

X2 / ndf

28.83 +4.86

Constant

0.03881 + 0.06039

Mean

0.4578 + 0.0540

Sigma

0

10.67 /61 {

X2 / ndf
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1D pull distribution

+0.04629
0.3645 + 0.03273
248412
36.41+6.47
0.3482 +0.0423

0.0008854
0.007965 + 0.054443

Std Dev
Underflow
Overflow
X2 / ndf
Constant

Mean
Mean
Sigma
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1D pull distribution

-0.008107 + 0.18
1.418 £ 0.1273
14.15/9

18.76 + 4.40
0.1382 + 0.1130

Std Dev
Underflow
Overflow
X2 / ndf
Constant

Mean
Mean
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Sigma

124.6 /61 {
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